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Metal with Acid ! .
Remembering that Acid + Metal @ neutral hydrogen gas  + salt, fill in the missing compounds for each

Q_HBr +2Na = HZ{:) +2N0:Bf
22'"\‘03 + Mg > Hia) + Mﬂ(“OS)z
3)H;P0, +1ca 9‘5“1@, + CafPO0),

4. We have three equations which we have been using in this chapter, :

| Write the equation you have Write the equation you have Write the equation that you have

‘memorized that describes what | memorized that describes how | been using since March to relate

number you get when you H+ molarity is related to pH moles of solute, volume of ‘

‘multiply the molarity of H+ by | solution, and molarity of a [

‘the molarity of OH- solution. " |

: 3 \ woles |

| PH =iz |o3[H] ConceitieNion= '\,7,75'3‘2\
‘ H":[[O”j: |0<lg™] o
| g | & ]i&
&y
5. If a solution contains 0.445 moles of HNO; dissolved to make 2.3 liters of solution, what is the
molarity? /
™Mo . -
ce%%\m’ﬂ‘s' (mc_-:._o_-‘i‘ﬁ_ Canc:O,IqM
MCERTAWA = alume 2.5

6. If a solution of HF has a concentration of 2.3 x 10°° M, and a volume of 444 mL, how many moles of HF

doesit have? oL
& ol =(ond)felond  weles (234670 44D
(onc = , ’ G
\® vweles = { .0 <0
7. In the reaction below, connect the conjugate pairs with a line. Write “acid” or “base” below each of the
four substances. 6"5‘2 AC D

+ ]- l
NH;" + OH" 5§ HOH + NH;
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8. Show what reaction occurs when calcium reacts with HF. Use your peniodic table to help you with
the charges of the product so that the compound comes our with zero charge.

2\‘\? + Cq s ”Z - C«FZ

9. Write a word in the center of each circle to tell what color each would be. One has been done as an
example. Use the dashed line table below as a reference.

A

PH=3 PH=7 PH=11
Color Color
phenolphthalein et (
oss
bromocresol green gl() 3
Thymol blue -

"Common Acid-Base Indicators

Approximate
Indicator pH Runge Color
for Color Change
1 Change

methvl orunee 3.1-34 ree to vellow
browthsanol Bhine 6G.0-7.6 vellow to hlue .
phenolphthalein S-4 colorless to pink
littins 4.5-53 el to blne
bromeresol greon 35-34 vellow to hlue
thviol blue S5.0-49.6 vellow to blne

10. Write the reaction equation for the reaction of magnesium and hydrogen chloride.
N\S +%Cﬁ — N\gCIZ + H,
o K
b. a10. M solution of nam (OM M“' \OW o

Lox= VR onsee Tud= (DM A= 1 0x(6°




a. 3.494 ‘302|x|0'

b. 1.265

0.05423 M

13. If a solution contains 1.745 moles of HNQ, dissolved®

molarity?
0%

14. IN the reactions below if water is behaving as a base; W BASE - Hwatarisbahavis = asamacd write

% r write \oh bccac.s( R
Ac?.:l-mﬁ:uzonin::' + OH- ACJD ( weder 3&\/\" aH X \
ACID (3 Ve v an HE @l AUD)

c H+ + HO0 > H0+ EAS[ ::%ieﬁ?(@\b‘ ot H.j
d. H- + H,0 & H; + OH- AC ID ‘ ; :

% H:0 + NH;- - NH; + OH-
e

The following four questions are all multiple choice:

15. Circle the only two compounds that are electrolytes:
a8, CgHyj 0
b, CyHu0y
c. CH,CH,OH

< d. _HNO, —

- e. NaOH

16. A solution of HCl is a stronger acid than a solution of HCN because the HC|
a. creates a larger [OH-] in solution

,/\‘_BT'Feates a larger [H+] in solutions -~

C.  has more mass than HCN
d. has less mass than HCN

17. When tested, a solution turns red litmus to blue. This indicates that the solution contains more
a. H¢+ ions than OH- fons
b. H:O+ions than OH- ions

<€ OH-ionsthan H;0+ions 7

d. H+ and OH- ions than H,0 molecules

18. If an aqueous solution turns blue litmus red, which relationship exists between the hydronium ion and

hydroxide ion?
a. [H;04) < [OH-]
b. [H:0+] = [OH-] =
(’— HO+>[0R]

d. Neither ion is present




